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HIGHER SECONDARY FIRST TERMINAL EVALUATION
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COMPUTER SCIENCE Max. Scores :60
Answer any S questions from 1 to 6. Each carries 1 mark 1x5=5
1 MOT6 UOHOWBBaBOMNHILN0 5 GaldBIEERUBHDDMO0 MDBHE)E:.6306IMIMY0T DIBH6)
1. As subscript for array, .............. is associated with structure.
@GO BN 6213 (Ve M(Hs1a1) OalGRIN B, MI(SG@ @RYLTVTY 6)2lQIN3
............ DalEWIUT 1B,
2. Consider the statements. GH00UHUB al@ 1NN 1H) b
int *p,a=>5;
p=&a;

cout<< *p + a;
What is the output? af)0mo6m BVSalS?
3. Ablueprint for an object in OOP is called ..............
00P-W 162l B30} BeNIRHG1N I 1SS 303 100 1em ANE1LNMO ..............

4. Which facility of programming language used to define the node of a Linked List?
eNessald eflqulmen eman) M@ B6908 ©alE@IUTHNM® Gl oU) BIaHUQIANS
B VDHOLNI6N)?

5. The port number of SSHis ................

SSH @alo@s Mm@ ................

6. LIFO isthe naturcof ............ data structure.
LIFO af)(M@ ......... (OQI CRISMAAS @) IDIEN.

Answer any 9 questions from 7 to 17. Each carry 2 marks 2x9=18

7 MOT3 17 UOOQIBES aBEIDIR: 1210 9 BaldBIEBRUTHE) ODMD@0 MNMTFdHYbs.
6396IM 1Mo 2 MIBHE) NUlMo

7. VB script is less popular as a client-side script. Why?
SOMNA 6O (B 1alq ag)om Mei1@d ailenil sl @ LMl nel.
af)(TONEHI6NS?

8. Classify the following scripting languages into client side and sever side.
e0M O M(B51adQ o) BIHBDH:AS KM HETVAL, HTVAU@ OOV oM 16BB6IM
@0 1@ 186 bb.
Javascript, PHP, ASP, VBscript

9. Write an algorithm to insert an element into a STACK.
STACK-GRI6) 63(0) al3®1Q (WIQ GalBH6908 @RDIGUNID Mo af)PIMbs.

10. How does circular queue overcome the limitations of linear queue?
MVBBNLIA BY) af)6BBeM@IEM 21°IMAE HRANMEN al@ 1D HES DO S HOMD)?



11. What is the difference between compile time polymorphism and runtime
polymorphism?
#06)6)nl08 6)6)S0 Galdg16MIBaO 1Mo NNMBENSo Galds 1RGO0 MY )88
QUM af)TDIENT?

12. What do you mean by overflow and underflow in data structure?
(OGO MI(S@6)al 630NIMBGEAQIW0 @EMRMBEAIIWI0 OHI6NS M 168133 af)TMIEN)
@RM@OODIHO}MND)?

13. Differentiate following C++ statements.

®IOY AlOWIM C++ GBI B UE AN 2RSS O {MIIMV0 af)PIONE-
a) int *ptr =new int (5);

b) int *ptr = new int [5];

14. Explain the use of new and delete operators.
new &9oJeNQMASW)o W1RI1G BoeCNNMOSW0 OaldINo NIUE @ 1H86))bs.

15. Write any two advantages of character pointers.
3003 Gald@IMOMDHEINS B 18130 NS 1NIEMEBRUZ af)PIMYD:

16. List different forms Inheritance.
QU@IMY @0 HMBENNG1ISMIBIVIMNEN Cal@)dHUB af)PIMH

17. a)The type of tag that requires only a starting tag, but not an ending tag is called

&0} @Y SIUT Mo @YUM IMEES, af)MITI @OCUMIM1HNIMM SIUT @YU B 12I0OTD)
son a0 e A&1HNM) ........

b)Name two types tags in HTML.
HTML 5000 é(8 a)edRe @6 @@o@) 10 12110 168630Mm)?

Answer any 9 questions from 18 to 28. Each carry 3 marks 3 x9=27

18 M3 28 UOOQBS aRBEH: L0 9 GaldBL68BUBHE) OO0 MDBB3bs.
630620 1Mo 3 MIBHE U lMo

18. Define a structure Employee with following details (empcode, empname, basic, DA).

Write statements to read the above details.

9692 ]0@M (1U2BI0U6BRUE DalEWIUT 2] af)oBGOW MI(SE@B MBI IH6)bs.
(empcode, empname, basic, DA).

M) 12)8s NU0EI0U6ERU3 OO HalQIE @RYNUUDIDIQ CHIUYDHUT af) PN E:.

19. Compare Array and Structure.
@OCOI0 (TV(SEHNY0 MIOMDI0 6al@)db.
20. Explain memory leak and any two reasons for memory leak.
om0 ellemo O] 21186 1MBS aRBEI®E: 18130 NS EHI06MEBRE)0 NIUE" @ 1H86))bs.

21.Compare static web page and dynamic web page.
MG 1 OO BalR)o HIONWMIA 1H: AU BalR)o MIRMAI0 EalQ)d:.

22.Explain any three attributes of <BODY> tag.
<BODY> 500710060 aB6)X®ess 18130 MM @R)(S 161353808 NG 8@ 1863 6s.

23.To access a website the web browser of our system need IP address of the website, for
finding the IP address the system follows some step by step procedure, write the

procedure to find the IP address.

B0) HOUMINOMIY @RYENMM 6)2IQIM@ T eUeNT [ENIVTVO1N eUNIeeMVQIMeN 1P (ilRId
Mo @NUWIMIEM, TP A1RIdMI0 HEEMBOMMD M V1Mo °RISo RISAIWBE MSalS (b
068BU3 ol SEIMY, IP ARI0MN0 BHe)EBOMIM@ IMBEB MSalS | (EHAEBRUS af)PYONb.



24. Write the basic structure of HTML document.
HTML GOH 02001060 @S 1ru0dm CRISM af) PN E:.

25. Write algorithm to Delete an element from Queue.
HNNG3 MM &@) af)elenmo (Wel’l) 61219008 @RTEIENID Mo af)PIDNd:.

26. List all operations that can performed on data structure.
WIQ9 (SN M8 MSa{121986908 BHP1IM af)2ld (INIBOMMEEREI0 A11QY 612198

27. a)Linked lists are constructed using nodes. Each node consists of two parts.

What are they?
eNes0W 21N B03 BGMIMWIEU8 ©alE@IUT12406nT M@ 21 1H80M®). 306 EGMIURNo

©6NS BINEBRU3 @RSEERIW 1M 1H6I0M). @O aBTIEM? 1

b)Why linked list are called dynamic list?
eflesal eflpylom eaawmaales allqy af)my Aflglenm@ f)amedsoems? 2
28. What is meant by self-referential structure. Write an example.

M@0 NaNNMBaH I3 MI(SB af) MDIEIBIENS af)ADIEN) @RG@ADIHEIMD). 630}
939aNM6MO af)PYONDs.

Answer any 2 questions from 29 to 31. Each carry S marks 5x2=10

29 MO@F 31 UOOWIBS BB 121J0 2 CaldBLEBRUBHE OO0 MBI &Hs.
8960IMIMIo 5 29@HH NUlMo

29. a) List the different ways to implement CSS 2
€SS MSa{121086)M@ MBS (UIMITY AU 1EUB af) LI D

b)Explain any three text formatting tags. 3
oo laRo e 0s& Q) 2RI low) S2!B0d 11006 e:@ 166)) >

30. a) What is meant by PUSH and POP operations?
a)0m26M a R, Galda] (aIUBOOMEBRUD? 2

b)Explain the following basic concepts of OOPs.
OOP-&H&IH)S (M laO@IM @S 1MNIM @RYUEBRUE N 1U0E1Ex@ 186)3ds.
1)Data Abstraction  ii)Data Encapsulation iii)Modularity 3

31. a) Identify the errors in the following structure definition and write reason.
213OU6S M@3H 1@ 1HNIM NSRRI ODMQDHUB SHEOENSOD ] H006MO af)PIOND:.
struct
{ int roll, age;
float fee=1000; 2
55
b) Read the C++ statements given below.
int ar[ ] = {34, 12, 25, 56, 38};
int *p = ar;
1)What will be the content of p?
p @S content af) oW 1@ 186307 3

i1))What is the output of the expression *p + (*ar + 2)?
*p + (Far + 2) 89503 af)0moen)?

iii)The statement ar++; is invalid. Why?
ar++; @000, af)TONEBI6NS?





